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We now mostly use: whats are; called, Arabic numbers (0,1,2,3,4,5,6,7,8 and 9) that: are based, orv the, decimal,
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The Romans used; addition ands subtraction to make numbers. TW}oUowethhesemlw

) I o letter is repeated; s repeating its value Eg. ||| = 3 o0 XX = 20

2) A letter carv only be repeated, up to- three times! Four or more is incorrect:

3) V and L are nexer repeated:
4) V and L are never subtracted.
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VIl= 7 IV =4 IX =9
XXV = 25 LXI| = 6l XL =40 XC = 90




What numbenrs are

by these,
Romary Numenals?

a) ll =2

b) XXV =25

c) VI =7

d) Xlll =13

e) LI = 5]

f) XXXIl = 32

g) LXVIlI = 67

h) LXXXVIIl = 88
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Now, ’Uy/ﬂweseh\pkwn
numbers.

i) IV =4

j) IX =9

k) XL= 40

) XC =90
m)XIV = 14
n) XXIX = 29
o) XLIV = 44
p) XCIX = 99



Well done/



